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Suppose that /' (x)=2x> +3 g(x)=4x"+1. Find:

Find:  (a) f ° g ®) gef
Then find the domain of each composite function.
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[1.6B] Composite Functions

Consider f(x)=x"+3x and g(x)= 5x - 1.

£)=X"+3%
Composite Function: £ (3(*)) = (3(‘))14— 3( S(“))
f composed with g: fog = f [g(x)] Fa]= (5X-i)2+3(9"1)
Domain of fog: domain of g(x) such that g(x) is in the domain of f(x)
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Suppose that /' (x)=2x>+3 g(x)=4x"+1. Find:
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The Domain of a Composite Function: [1.6B] -3-
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Find the domain of f[g(x)]. (8= ﬁx— 90 =Jx32
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